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Question-
1

The probability that a family (in a county) invests in the stock market is p = 0.8. A statistician
interviewed 800 families. What is the probability that at most 650 would have invested in the stock
market (Use TI)?

 
 
Answer 

 Question-1
This is a Numerical­Answer Type Question

P(X ≤ 650) =

Points 5.00
 
 
Question-
2

Refer to Question 1. Use normal approximation to binomial to find an approximate probability that
at most 650 would have invested in the stock market.

 
 
Answer 

 Question-2
This is a Numerical­Answer Type Question

P(X < 650.5) =

Points 5.00
 
 
Question-
3

The probability that a person (in a county) favors medical use of marijuana is p = 0.6. A statistician
interviewed 700 individuals. What is the probability that at least 413 will be in favor (Use TI)?

 
 
Answer 

 Question-3
This is a Numerical­Answer Type Question

P(413 ≤ X) =

Points 5.00
 
 
Question-
4

Refer to Question 3. Use normal approximation to binomial to find an approximate probability that
at least 413 will be in favor.

 
 
Answer 

 Question-4
This is a Numerical­Answer Type Question

Approximate P(412.5 < X) =
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Points 5.00
 
 
Question-
5

It is claimed that 55 percent of the population supports government action on poverty. A sample of
780 are interviewed. What is the probability that at most 450 would support the same (Use TI)?

 
 
Answer 

 Question-5
This is a Numerical­Answer Type Question

P(X ≤ 450) =

Points 5.00
 
 
Question-
6

Refer to Question 5. Use normal approximation to binomial to find an approximate probability that
at most 450 would support government action on poverty.

 
 
Answer 

 Question-6
This is a Numerical­Answer Type Question

Approximate P(X < 450.5) =

Points 5.00
 
 
Question-
7

A producer of a drug claims that only 22 percent of the patients may suffer some side effects. The
drug was sprecribed to 600 patients. What is the probability that more than 130 would suffer from
some side effect (Use TI)?

 
 
Answer 

 Question-7
This is a Numerical­Answer Type Question

P(130 < X) = P(131 ≤ X) =

Points 5.00
 
 
Question-
8

Refer to Question 7. Use normal approximation to binomial to find an approximate probability that
more than 130 would suffer from some side effect.

 
 
Answer 

 Question-8
This is a Numerical­Answer Type Question

Approximate P(130.5 < X) =

Points 5.00
 
 
Question-
9

It is speculated that the proportion p of students who paid more than $5000 tuition this year is p =
.58. A sample of 680 students was collected. Assuming that this speculation is correct, what is the
probability that more than 400 would have paid more than $5000 in tuition (Use TI).



4/16/2018 Home Work on The Web : Teacher's Page

https://www.math.ku.edu/~mandal/cgi-bin/teacher365edit.cgi?semester=Summer2017&hwNumber=19&teacherId=satya&studentId=guest&dueDate=2017-07-27&reqType=11&lineN

 
 
Answer 

 Question-9
This is a Numerical­Answer Type Question

P(400 < X) = P(401 ≤ X) =

Points 5.00
 
 
Question-
10

Refer to Question 9. Use normal approximation to binomial to find an approximate probability that
more than 400 would have paid more than $5000 in tuition

 
 
Answer 

 Question-10
This is a Numerical­Answer Type Question

Approximate P(400.5 < X) =

Points 5.00
 
Logout


